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Cluster: 0215 ptr; resid: 0.22; r/c: 30/79

x.range

upstream meme PSSM #1; e=2.5e+03

1 3 5 7 9 11 13 15 17 191 3 5 7 9 11 13 15 17

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=1.3e+05

1 3 5 7 9 11 13 151 3 5 7 9 11 13
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10782

13820
25394

45441
51897

9929

9989

12779

1342817974

46259

8777

32036

18217

54038

17523

35048

35267

35966

40101

42626

43055 43676

43703

45727

45844

46848
47198

52387

6258

string −500 −400 −300 −200 −100 −1
52387NA
42626−0.00

9989−0.11
45727−0.22
47198−0.30
35048−0.35
18217−0.38
54038−0.66
45441−1.04
13820−1.45

9929−1.46
32036−1.89
35267−1.94
10782−2.21
25394−2.58
12779−2.60
17974−2.70
43055−2.94
43703−3.01
46259−3.08
45844−3.11
13428−3.43

8777−3.46
43676−3.80
51897−4.09
40101−4.10

6258−5.06
35966−5.09
17523−6.17
46848−7.39

log10(P) upstream meme1 2 log10(P.clust)=−2.57; 30 seqs; 30 uniq
c(0.5, 2.5)
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